




23: The median and the interquartile range. The average may not be the best measure of a 
typical value for this data set because examination of the dotplot (reproduced below) indicates 
that the distribution is skewed right and may contain an outlier.
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The pictures to the left show the histogram graph and window settings after you 
press 'zoom 9' (for zoomstat) . Because the data set is not a large data set, it is best 
to use the dot plot to visualize the distribution, and not a histogram. Or you may try to 
approximate the dot plot gram with a histogram. 

The way to do this with this data set is to change your histogram bar widths to 1, by 
pressing [window] then changing 'Xscl' to 1. Afterwards, press [graph]. However, 
doing that will give you an error message screen like the one in the picture to the left. 
So we make 'Xscl' equal to 5 (to widen our bar width to 5) then press [graph] and we 
get the same error message.

I was able to approximate the dotplot graph with the histogram graph (left figure) by 
changing 'Xsc' to 10, widening our histogram bars to 10). 

My dot plot looks like this (left figure) after I press [graph] [zoom][9]

In any case, the result is the same. The graph is skewed right with a possible outlier 
on the upper end.

However, there are no outliers though because the modified box plot 
indicates it is not. 

Also notice there is no left whisker because the data entry 0 is equal 
to both the minimum and quartile 1. 
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24:

The distribution of APEAL ratings is roughly symmetric, so using the mean and standard 
deviation to describe center and spread, respectively, is appropriate. 
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